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Challenge: Can you solve these ‘time’ problems?
)
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Itis half past 11 so the
hour hand should be on
the 11

Is Alex correct?
Explain your reasoning
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The train to Blackpool leaves at quarter
pastand quarter to every hour.

Make a list of the times of the trains
Oliver can catchif he gets to the train
station between 2 o'clock and half past 4
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Oh nol The minute hand has fallen off
the classroom clock!

Lunchtime is at 12:00

Have the children missed their
lunchtime?
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Who is telling the
time correctly?

= The time is half past 6
Dora
©lo)
The time is half past 3 .

Amir
y=
The time is half past 2

Alex

Can you spot the mistakes they've
made?




